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Summer Review # 1
) Show your work (stack the numbers) show any regrouping

Find the sum Find the difference Find the product Find the quotient
95.2+517= 9%5.2-517-= 9%5.2x51-= 918-:51=

Write a positive value for 2 that makes this statement true:1x n islessthan1

but greater than 0. :]

—

Which equation has the same unknown ~ Which expression is equal to Z ?
value as 425 + 25 =[|? 8

@ 425 x[ =25 @ 7-8
[+ 425 =25 ® 8x7
© 25 x [ ] =425 © 8:7
D []-25 = 425 D 7x8

| Which expression correctly shows the Sarah is using a calculator to multiply
sum of the product of 8 and S and the 3245 and 20. She enters 3245 x 200 b

I difference of 25 and 122 mistake. What can Sarah do to correc
her mistake?

L ® 8+(5x25)-12 @A add180 tothe product
|’ (8x5)+(25-12) subtract 180 from the product
b © (8x5)-(25+12) (© Multiply the product by 10
. D 8-(5x25)+12 (D) Divide the product by 10
= I- OMPS. »gea,eg'
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" Name Summer Review #2

' Show your work (stack the numbers) show any regrouping
|

—

Find the sum Find the difference Find the product Find the quotient

L —_ = l— L= L L: ;L:
3 t27 53 -2 3 ¥ 7 10+ 5

— N — — —

Write the product. 2468 x 23 A rectangular prism has a volume of 60
cubic units. The length is 4 units. The
] widthis 3 units. What is the height?

@ 4 units
5 units

© 15units
D 20 units

There are 8 social studies books on the back table. Thisis -1 of the total number of
social studies books in the classroom. 3
Write the total number of Social Studies books in the classroom.

Brianna’s family drove 415 miles to the gas station. Then they drove 3 3 miles
from the gas station to the restaurant for dinner.

Which expression can be used to determine the number of miles Brianna's family
drove altogether?

® 7 +iko
® 4+3+
@ 7+ 100*1‘{%

® 4+ +3+ 5

—: OMPS. MRaRS g
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) Show your work (stack the numbers) show any regrouping

Summer Review # 3

Find the sum Find the difference Find the product Find the quotient

53212+50.2= |53212-502= |53212%x502= |532.12:50.2=

. @ 7-(8x28)+14 (D Divide the product by 10

Write a positive value for n that makes this statement true: 2 x n isless than 6
but greater than 4. :]

Which equatlon has the same unknown  Which expression is equal to .8, ?
value as 594 + 33 =[_|? 1z

@ 33 x[ |=5% @ 12+ 8
[ 594 =33 ® 8x12
© 594 x [ ] =33 © 8-12
D []+33=5% D 12x8

Which expression correctly shows the Anna is using a calculator to multi 81{
sum of the product of 7 and 8 and the 3245 and 200. She enters 3245 x 20 by

difference of 28 and 14? mistake. What can Anna do to correct
her mistake?

@ 7+(8x28)-14 @ subtract 180 from the product

(7x8)-(28+14) add 180 to the product
© (7x8)+(28-14) (© Multiply the product by 10

OMPS. Measy
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" Name Summer Review #4
| Show your work remember to show any regrouping

' Find the sum Find the difference Find the product Find the quotient
3 412 - 3 _12 _ 3 12 _ .12 _
68+15- 68 15- 68X15- 6'15

—

— —_ — —_
— —_ = — = = _—

Write the product. 8642 x 14 A rectangular prism has a volume of 60
cubic units. The length is 5 units. The
[ ] widthis3 units. What is the height?

@ 4 units
5 units
© 15units
@ 20 units

There are 16 science books on the back table. This is % of the total number of science
books in the classroom.

Write the total number of science books in the classroom. [:

Sean’s family drove 5 £ymiles to the hardware store. Then they drove 7 72 miles
from the hardware store to the he pet store.

Which expression can be used to determine the number of miles Sean’s family
drove altogether?

® 12+3%
® 5+7+%
@ 5+ 7+1oo 1oo

; 12 + &
1 ® 15 * 100 OMPS. Mears <o
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Summer Review # 5

) Show your work (stack the numbers) show any regrouping

Find the sum Find the difference

Find the product Find the quotient

612.36+756= |612.36-75.6=

—

612.36x756= |612.36+75.6=

but greater than 8. :]

valueas 585 + 15 =[ |?

@ 15 x 585 =[]
585 + [ ] = 15
© s585x [ ] =15
[ @ [ ]+15 = 585

i Which expression correcthy shows the

sum of the product of 6 and 10 and the

| difference of 40 and 15?

o @ 6+(10x40)-15
| (6x10)- (40 +15)
» © 6-(10x40)+15
- :@) (6x10)+(40-15)

1= _ 9o o _9_o_

Write a positive value for n that makes this statement true: 4 x a isless than 12

Which equation has the same unknown ~ Which expression is equal to 10 9

15 -

@ 1510
10 = 15
© 10x15
D 15x10

Izzy is using a calculator to multipl
4627 and 30. She enters 4627 x 300 by
mistake. What can Izzy do to correct
her mistake?

@ «dd 270 tothe product
subtract 270 from the product
(© Multiply the product by 10

(D Divide the product by 10

OMPS. Meaess
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*"'Name Summer Review # 6
Show your work remember to show any regrouping

Find the sum Find the difference Find the product Find the quotient
3 .24 - 3 _z4 _ RV 3 I =24

Write the product. 5876 x 23 A rectangular prism has a volume of
[ i il ]uc * 100 cubic units. The length is 5 units.

The width is 4 units. What is the height?
@ 4 units
5 units
© 15units

@ 20 units
There are 8 cupcakes on a plate. This is % of the total number of cupcakes in the

kitchen.
Write the total number of cupcakes in the kitchen.

Stephany’s family drove 50+ miles to Mount Rainer. Then they drove 2589 miles
from Mount Rainer to a new hotel.

Which expression can be used to determine the number of miles Stephany’s family
drove altogether?

@ 75+
® S0+25+ 70+ &
@ 50 2-5"'110

: 75+ 1
. ) 100 * 100 OMPS. MEaps oo
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—®:" Name Summer Review # 7

) Show your work (stack the numbers) show any regrouping
|

—

Find the sum Find the difference Find the product Find the quotient

73305+905= |73305-905= |73305%x905= |73305+9.=

— . — — —

' Round to the nearest tenths.

351.015 832.304 270697

Which equation has the same unknown Which fraction isequalto 52 + 5 ?
valueas 12 x [ |=420 ?

@ 12 %420 =[]
420 :[ ] =12
© 420x[] =12
| D []+12 = 420

| Mr. Johnson is buying popsicles for his class as a treat. He has 25 students. A box of
20 tropical popsicles costs $4.59. While a box of 18 Firecracker popsicles costs
| $3.97. How much will he save bUfin% 2 boxes of Firecracker popsicles instead of 2

SIS
© 5 15 a5

ul-d TN enfen

| boxes of tropical popsicles ?

OMPS. Meagsy
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Summer Review #8
Show your work remember to show any regrouping

Find the sum Find the difference Find the product Find the quotient

spe3is  [i-ske [sgxsir |sesbs

—

— —_ — —_
— — — — = = _

Write the product. 4659 x 47

| |

| Four students plan to share the cost for ordering pizza. Each student says how much
of a whole pizza they want toeat.

I want 1 wcullt
T want toeat % of toeat 3 of
toeat % of a pizza.
a pizza.

Cynthia
Bill and Cynthia only want Combo pizza
I John and Rosie only want pepperoni pizza.
At - Combo and pepperoni can only be ordered as while pizzas.

| \What is the minimum number of whole pizzas they must order so that each student
| has as much if the Kind of pizza they say they want to eat?

=4
"p_9o_ o o -0-—90_9o 9 9 __9_

] ©MPS. Mears .
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—®:" Name Summer Review # 9

) Show your work (stack the numbers) show any regrouping
|

—

Find the sum Find the difference Find the product Find the quotient
21312+288= |21312-288= |21312x288= |21312-:288=

— —
= =

Round to the nearest hundredths.
: 351.015 832.304 270.697

| Which expression is equal to 537085 ? Qng 2}1%?3 gﬁ{;‘%ﬁg‘ﬁﬁs ’S:g:lil(r)ns r?i{’;s.

| @ 5% 100+3x10+7 +8x(%)+5’x(1%0) The width is 7 units. What is the height?
® 5x100+3x10+7 + 8% (35) + 5 % (1ch0) @ 6units

L (© 5x1000+3x100+7 +8x (i) +5x (1) & 7 units

| (D) 5x10000+3x1000+7x100 +8x10+5 (O 60units
@ 70 units

| Mr. Johnson is buying porsicles for his class as a treat. He has 25 students. A box of

20 Tropical popsicles costs $4.59. While a box of 18 Firecracker popsicles costs
| $397 What is the price per popsicle for the Tropical popsicles?

OMPS. Meagsy
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Summer Review #10 *“uf-
Show your work remember to show any regrouping

Find the sum Find the difference Find the product Find the quotient
1 L - l - L - i L: - A:

—_—

— —_ — —_
— — — — = = _

Write the product. 8047 x 23

b | |

Four students plan to share the cost for ordering pizza. Each student says how much
of a whole pizza they want toeat.

I want
I want 1
I want toeat % of toeat 7 of

toeat 73} of
a pizza.

Bill Cynthia
Bill and Cynthia only want Combo pizza
John and Rosie only want pepperoni pizza.
Combo and pepperoni can only be ordered as while pizzas.

Bill and Cynthia are sharing 2 large Pizzas. How much will they have for left overs?

,;[ ] OMPS. MEaps o
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b-"" Name Summer Review #11 -

) Show your work (stack the numbers) show any regrouping
1

Find the sum Find the difference Find the product Find the quotient
|

50.4+12.716= |504-12.716= |50.716x124= |50.716+124=

— —
= =

Round to the nearest tens.

' 358.015 832.304 276697
|

Which expression is equal to 5370.85 ? Steven has a plastic tub for storing his
building blocks. The area of the base is

|
(B)5x%100+3x10+7 +8x (45) +5x () 60 square inches. The height of the tub

R o7 28 (1) (L is 4 inches. Write the volume, in cubic
| (B)5%100+3x10+7 +8x (160 + 5 (1300 inches, of the plastic tub.

I5x1000+3x100+7x10+8x(—115)+5x(ﬂ])7)) {
(D)5%10000+3 1000 +7 %100 +8x10+5

N—

| Sam multi}talies a number, n, by a two digit number.

Which sta
', @ When nisa one-digit number, the product will always have three digits.

ement is true?

| When nis a two-digit number, the product will have four or five digits.

l (© When nis athree-digit number, the product will always have four digits.

(D) When nisa four-digit number, the product will have five or six digits.
-, OMPS. Meagsy
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*"'Name Summer Review #12 -
Show your work remember to show any regrouping

Find the sum Find the difference Find the product Find the quotient
1 1 _ 1_¢gl._ 1 1_ =41
141+ 1= 14l-6l 141 x 61 30 +4

—
— P —

Write the product. 4075 x 32

| |

—_—

Four students plan to share the cost of candy. Each student says how much candy
they want.

Sam and Julia only want rocky road clusters
Jim and Bella only want multi-flavored rock candy.
\g «  The candy is sold in 1 pound bags.

What is the minimum number of pounds of candy they must buy so that each
| student has as much if the kind of candy they say they want toeat?
S
a9 o eo-9_9_ 9 9 9 o _
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Summer Review #13

) Show your work (stack the numbers) show any regrouping

. Find the sum

Find the difference

Find the product Find the quotient

203+1165=

—

20.3-1165=

20.3%x11.65= 203-116=

Round to the nearest ones.

' 358015

832.504

‘ Use this table to

solve the problem

Item Cost

per package

Bowls

$2.32

Spoons

$254

279697

Joe has a plastic tub for storing his
gaming cards. The area of the base
is 25 square inches. The height of

the tubis Sinches. Write the
volume, in cubic inches, of the

—

L Sam buys 2 packages of bowls and 3

plastic tub.

|

| packages of spoons. He gives the store clerk
hree 5 dollar bills. What is the total amount

| of money that Sam should receive back from

| theclerk? { ]

How is an acute triangle different from an obtuse triangle?

OMPS. Meagty
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Summer Review #14 ~“uf
Show your work remember to show any regrouping

Find the sum Find the difference Find the product Find the quotient
1 2 _ 1_=z2_ 1 2 _ 222

—_—

— —_ — —_
— — — — = = _

Write the product. 8507 x 34

| |

Four students plan to share the cost of candy. Each student says how much candy
they want.

T want I want

3
4 I want 1%113 §.of candy. 4 Ib.of candy.
¢ Ib.of candy.

Y

Sam and Julia only want rocky road clusters which costs $1.99 per pound.
Jim and Bella only want multi-flavored rock candy which costs $3.99 per pound.
The candy is sold in 1 pound bags.

| How much more do Sam and Julia pay for their rocky road clusters than Jim and

® Bellapay for their multi-flavored rock candy?

N———/

COMpS. Me3ns /s
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Name Summer Review # 15

) Show your work (stack the numbers) show any regrouping

Find the sum Find the difference Find the product Find the quotient

6016+15.04= |6016-1504= |6016x1504= |[60.16 +15.04 =

— —
= =

Round to the nearest tens.

358.015 832.504 279697

Use this table to solve the problem

Tt Cost k Ginger has a plastic tub for storing
T en; P = P;Z i:c ke her nail ohsE The length is 7
thed Taper ' inches. The width is 4 1nches The

#2 pencils $4.96 height of the tub is 3 inches. Write

the volume, in cubic inches, of the

Vanessa buys 1 package of paper and 2
packages o{y pencils. SEe gives the store plastic tub. { ]

clerk twenty dollars. What is the total
amount of money that Vanessa should

receive back from the clerk? :]

@Mras Meae

—_— = = —
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-* Name Summer Review #16 <&
1
) Show your work remember to show any regrouping
. Find the sum Find the difference Find the product Find the quotient

| 331+ 71= 355 75" 3B5% 75" 33 +73=

_ — [ |
I

—
— P —

|
| Write the product. 7603 x 27

|

—

Sarah is painting her room and packing a box with books.

« One shelf has books that are 6 inches by 4 inches by 1 inch.
- The dimension of the box is 12 inches by 8 inches by 8 inches.
- All the books and the container are rectangular prisms.

® Part A 4

How many books can fit in the
box if the books are packed so
that there is no unused space
in the container?

N
! PartB /

Each book weighs 6 ounces.
| The maximum weight the box
® will hold is 10 pounds.
What is the greatest number
of books that can fit in the box
without going over the boxes
_ weight limit |
= |:.,©“v1_r°s. Mears \ [ __boofts - ’l
—9_ 9_
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Summer Review #17

) Show your work (stack the numbers) show any regrouping

. Find the sum

Find the difference

Find the product Find the quotient

102.48 +12.2=

—

102.48-12.2=

102.48x12.2= |102.48 +12.2 =

' 853505

Round to the nearest tenths.

328.054

‘ Use this table to solve the problem

Item

Cost per package

Applesauce

$1.98

pudding

$2.48

| packages of pud

| back from the clerk? [

L Jill buys 3 packa(?es of applesauce and 2

ing. She gives the store
clerk a twenty dollar bill. What is the total 128V :}
I amount of money that Jill should receive

972.749

Frankie has string for tying up
plants that are all equal in length.
She lines them up end toend. The
line of string is 6 feet long, Frankie
says there are 8 hair ribbons.
What is the length of one string in

] What is the length of one string in

OMpS. Meae
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-* Name Summer Review #18 ‘&
1
) Show your work remember to show any regrouping
. Find the sum Find the difference Find the product Find the quotient

: = 2_p3_ = -
27%+ 6%= 27%- 65 = 272 %63+ 27 +65=

_ — [ |
I

—
— P —

|
| Write the product. 3076 x 72

|

—

Alex is cleaning his room and packing a box with books.

- One shelf has books that are 8 inches by 6 inches bg 1-1/Z inches.
- The dimension of the box is 16 inches by 12 inches by 12 inches.
- All the books and the container are rectangular prisms.

® Part A 4

How many books can fit in the
box if the books are packed so
that there is no unused space
in the container?

N
! PartB /

Each book weighs 1-1/2
| pounds. The maximum weight
® the box will hold is 45 pounds.
What is the greatest number
of books that can fit in the box
without going over the boxes
_ weight limit |
= |:.,©“v1_r°s. Mears \ [ __boofts - ’l
—9_ 9_
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—¢-"" Name Summer Review #19 -
) Show your work (stack the numbers) show any regrouping

I Find the sum Find the difference Find the product Find the quotient
134.4+192= 134.4-192= 134.4%x19.2 = 1344 +192 =

—

— —
= =

Round to the nearest hundredths.

| 853.505 328.054 972.799
‘ Use this table to solve the problem

Samantha has hair ribbons that are
all equal in length. She lines them
mutfins $4.99 up end toend. The line of hair

String cheese $2.98 ribbons is 9 feet long, Samantha

L Josie buys 1 package of muffins and 2 T,\C;K:tt;e{ﬁ&Zigalag 1(')11]13: ﬁglsr

| packages of string cheese. She gives the ribbon in feet? :]

Item Cost per package

store clerk a twenty dollar bill. What is the

I total amount of money that Josie should
| receive back from the clerk?

{ What is the length of one hair

ribbon in inches? C}

OMpS. Meae
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-* Name Summer Review # 20 ‘&
1

) Show your work remember to show any regrouping

. Find the sum Find the difference Find the product Find the quotient

: = 2_pl_ = el
182+ 6= 182- 6= 18Zx 6%+ 18 +65=

—
— P —

|
| Write the product. 4106 x 53

|

Megan is cleaning her closet and packing a large tub with shoe boxes.

- The dimensions of the shoe boxes are 12 inches by 8 inches by 4 inches.
- The dimension of the box is 24 inches by 24 inches by 16 inches.
- All the shoe boxes and the tub are rectangular prisms.

® Part A 4

How many shoe boxes can fit in
the tub if the shoe boxes are

| packed so that there isno
unused space in the tub?

| [ shoe boxes

N
! PartB /

Each shoe box weighs 2
| pounds. The maximum weight
® that Megan canliftis 40
|

\
=

ounds.
hat is the greatest number
of shoe boxes that can fit in the
box without going over
—®. Megan’s weight limit?

| |1=,QMps. Meaps
i Y

¢ —

—

[ shoe boxes
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Summer Review #21 -

) Show your work (stack the numbers) show any regrouping
: Find the sum Find the difference Find the product Find the quotient

380.38+266= |380.38-266= |380.38x266= |380.38 -26.6 =

—

— — —

Kevin and John rode their bikes home from the video game store. The distance Kevin
rode, in miles, is shown by point K on the number line.

John rode his bike % of a mile more than Kevin rode. {

Write the distance, in miles, Kevin rode.

Determine which category each polygon belongs to. Mark all boxes that ap}l)ly. Shapes
may belong to more than one category. If the polygon is note a square, parallelogram, or |
quadrilateral select None of These.

Square Parallelogram Quadrilateral None of These

Rhombus. I:l I:l I:l I:l

Octagon
[] []

Trapezoid
A : :

OMPSaMRAPS oo
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- Name Summer Review # 22 ~ ‘a1
) Show your work remember to show any regrouping
. Find the sum Find the difference Find the product Find the quotient

: = 1 1_ - 21
225+ 74+ 22%- 7%= 22l x71= 22 +71=

—

—_ — —

Katy and Josie rode their bikes home from the fabric store. The distance Katie rode, in
miles, is shown by point K on the number line.

2

Josie rode her bike = of a mile less than Katy rode. [
Write the distance, in miles, Katy rode.

Determine which category each triangle belongs to. Mark all boxes that apply. Shapes
may belong to more than one category.

Acute Obtuse Right Isosceles Scalene Equilateral
Triangle Triangle Triangle Triangle Triangle riangle

[l ] [l [ ] [l

A
A [l ] [] ] ] [l
A
A

[ [

= I:'_ OMPS. MEars
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Summer Review # 23 -

) Show your work (stack the numbers) show any regrouping
: Find the sum Find the difference Find the product Find the quotient

1005+25.25= |1005-2525= |1005x2525= |1005 +.25 =

—

— — —

Kyle and Jim rode their bikes home from the ballfield. The distance Kyle rode, in miles,
is shown by point K on the number line.

Jim rode his bike 13 times farther than Kyle rode. {
Write the distance, in miles, Kyle rode.

Determine which category each polygon belongs to. Mark all boxes that ap}l)ly. Shapes
may belong to more than one category. If the polygon is note a square, parallelogram, or |
quadrilateral select None of These.

Square Parallelogram Quadrilateral None of These

rectangle

[ [l [ [

rhombus

¢ 0 | o
pentagon

- 5 | -

OMPSaMRAPS oo
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- Name Summer Review # 24 ~ ‘a1
) Show your work remember to show any regrouping
. Find the sum Find the difference Find the product Find the quotient

y | 181+ 42= 185- 45 = 185 %45+ 18 +4-2=

—

—_ — —

Kassy and Jenny rode their bikes home from the craft fair. The distance Kassy rode, in
miles, is shown by point K on the number line.

Jenny rode her bike % as far as Kassy rode.
Write the distance, in miles, Kassy rode.

Determine which category each triangle belongs to. Mark all boxes that apply. Shapes
may belong to more than one category.

Acute Obtuse Right Isosceles Scalene Equilateral
Triangle Triangle Triangle Triangle Triangle riangle

A ] ] ] ] ] ]
) =T - T =T = A= I =
5 A

] I:..DM?& Meqrs
—9_@_ —_
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Summer Review #25 -

) Show your work (stack the numbers) show any regrouping
Find the sum Find the difference Find the product Find the quotient

1005+12.25= |1005-12.25= |1005%x12.25= |1005 +.12 =

Write the number of quarts equal to 36 cups. ___ quarts ]

—

Write the number of ounces equal to S pounds. ______ounces ]

Write the number of feet equal to10 yards. feet ]

Write the number of meters equal to 3 kilometers. [ meters ]

Write the number of grams equal to 5,000 milligrams.[ _____grams ]

Write the number of milliliters equal to Z liters. [ milliliters ]

Y
/'y

Plot and label the points below
A(4,3) B(16)

C(6,6) D(93)

I’ Connect AtoB,BtoC,CtoD,andDto A

| What shape did you draw?

L )

1% chtes. meaes 0 1234567891011
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*"'Name Summer Review # 26 -
Show your work remember to show any regrouping

Find the sum Find the difference Find the product Find the quotient
3, 52 3_gZ_ 3 o2 nZ.

Write the number of cups equal to12 quarts. —cups ]

Write the number of pounds equal to 48 ounces. ___ pounds ]

Write the number of yards equal to 24 feet. yards ]

Write the number of kilometers equal to 2000 meters. kilometers

Write the number of milligrams equal to 15 grams. __ milligrams

Write the number of liters equal to 1500 milliliters. liters

Plot and label the points below
A(6,0) B(3,4)
C(6.8) D(94)

| ConnectAtoB,BtoC,CtoD,andDtoA
®

| What shape did you draw?

L )

I%: ches. waaes 0123456789101
“R_9_ 9 _o-_9_90_ ¢ 9__9__9__ "
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> Dear Teacher,

Thank you for supporting teacher- authors by selecting this
product. This product is a summer review product designed to help
reduce the amount of summer slide of students going into 6t grade. It
covers most of the major Sth grade concepts.

Decimals - Addition, Subtraction, Multiplication and Division
Rounding Decimals

Single & multi-step problem solving with decimals
Fractions- Addition, Subtraction, Multiplication and Division
Fraction problem solving on a number line

Multistep fraction probﬁam solving

Expressions

Volume-Problem Solving

Unit Conversions- U.S. Customary and Metric

Geometry - Attributes of triang?e,as and quadrilaterals
Coordinate Graphing

This is meant as a1 teacher product. If you are sharing with your team
please purchase multiple licenses at a discount.

Any questions please email me at Heather_tpt@yahoo.com PoY

Heather
Meary

Happy Teaching,
Heather Mears

Fabulous Fonts by
Kimberly Geswein: http:/kimberlygeswein.com

Fabulous Borders by: -
http:/www.teacherspayteachers.com/Store/Kelly-Benefield grer

Fabulous Clip Art by:
https:/www.teacherspayteachers.com/Store/Lindy-Du-Plessis
https:/www.teacherspayteachers.com/Store/Mark-Niedjalski
https:/www.teacherspayteachers.com/Store/Sonya-Dehart-Design

. https:/wwwieacherspayteachers.com/Store/Whimsy-Clips
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Summer Review # 1

) Show your work (stack the numbers) show any regrouping
|

Find the sum Find the difference Find the product Find the quotient
95.2+517= 9%5.2-517-= 9%5.2x51-= 918-:51=

— —
= =

Write a positive value for 2 that makes this statement true:1x n islessthan1

butgreaterthan0. (] AWV example between .1 and .9

Which equation has the same unknown ~ Which expression is equal to Z ?
value as 425 + 25 =[|? 8

@ 425 x[ =25 @ 7:38
[+ 425 =25 ® 8x7
@ 25 x [ ] =425 © 8:7
D []-25 = 425 D 7x8

Which expression correctly shows the Sarah is using a calculator to multiply
sum of the product of 8 and S and the 3245 and 20. She enters 3245 x 200 b

difference of 25 and 122 mistake. What can Sarah do to correc
her mistake?

L @ 8+(5x25)-12 @ «dd180 tothe product
| Q (8x5)+(25-12) subtract 180 from the product
b © (8x5)-(25+12) (© Multiply the product by 10
. D 8-(5x25)+12 @ Divide the product by 10
= I- OMPS. »gea,es."

CR_9_ 9 90— 90_0 9 _9_—9_ o -9 -—¢_¢ ¢
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" Name Summer Review # 2

' Show your work (stack the numbers) show any regrouping
|

Find the sum Find the difference Find the product Find the quotient
1,91 _ 1 _91 _ 1 _
5% *27 5% -2 X

—
— P —

1_2_1
% 2" 6

3

52 -

4o-

25 =
2} 2%

Write the product. 2468 x 23 A rectangular prism has a volume of 60
cubic units. The length is 4 units. The
| 56,764 | widthis3 units. What is the height?

@ 4 units
Q 5 units

© 15units
D 20 units

There are 8 social studies books on the back table. Thisis -1 of the total number of
social studies books in the classroom. 3
Write the total number of Social Studies books in the classroom.

Brianna’s family drove 415 miles to the gas station. Then they drove 3 3 miles
from the gas station to the restaurant for dinner.

Which expression can be used to determine the number of miles Brianna's family
drove altogether?

® 7 +iko
® 4+3+
@ 7*100*1‘{%

@ ¢ +3+ 5

—: OMPS. MRaRS g

"p_9__9 o _9—_9_ -9—-4— ——o—¢ -—¢_¢ ‘¢!
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Summer Review # 3
) Show your work (stack the numbers) show any regrouping

Find the sum Find the difference Find the product Find the quotient
53212+50.2= |53212-502= |53212%x502= |532.12:50.2=

26,712.92%

Write a positive value for n that makes this statement true: 2 x n isless than 6

but greater than4. (AW V)example between 2.1 and 2.9

Which equatlon has the same unknown ~ Which expression is equal to .8 ?
value as 594 + 33 = [ ]? 12

@ 33 x[ |-5% @ 12+ 8
[ 594 =33 ® 8x12
© 594 x [ ] =33 @ s8-12
D []+33=5% D 12x8

Which expression correctly shows the Anna is using a calculator to multi 81{
sum of the product of 7 and 8 and the 3245 and 200. She enters 3245 x 20 by

difference of 28 and 14? mistake. What can Anna do to correct
her mistake?

@ 7+(8x28)-14 @ subtract 180 from the product
(7%8)-(28+14) add 180 to the product

d @ (7x8)+(28-14) @ Multiply the product by 10
. D 7-(8x28)+14 (D) Divide the product by 10

= l=. OMPS. »gea,es."

CR_9_ 9 90— 90 0 9 _9_—9_ o -9 -—¢_¢ ¢
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—:" Name Summer Review # 4

) Show your work remember to show any regrouping

' Find the sum Find the difference Find the product Find the quotient

65 +1L = 63-1L= 65 x1%= 6+1%=

— —
— P —

15 16 _~531 15 16
= 4110 =721 = 1qi° _ 97 .
6‘10 1‘}0 740 6‘10 140 - ’ -

55_ 416 _ 439 0.42
5‘10 1‘1-0 ‘l.‘}O 7 q.7

Write the product. 8642 x14 A rectangular prism has a volume of 60
cubic unils. The length is S units. The
120,988 | widthis3 units. What is the height?

@ 4units
5 units
© 15units
@ 20 units

There are 16 science books on the back table. This is % of the total number of science
books in the classroom.

Werite the total number of science books in the classroom.

Sean’s family drove 5 £ymiles to the hardware store. Then they drove 7 72 miles
from the hardware store to the he pet store.

Which expression can be used to determine the number of miles Sean’s family
drove altogether?

® 12+
5+7+ /2
Q 5+7+1Z(%+]—%%

2 ., 70
. @ 12+ 155 + 100 .
] I:- OMPRS. MQ?PS’.:

CR_9_ 9 09909 9 90 o -0 _¢_¢ ‘¢’
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Summer Review # 5

) Show your work (stack the numbers) show any regrouping
|

Find the sum Find the difference Find the product Find the quotient
612.36+756= |612.36-756= |612.36%756= |612.36+756=

— —
= =

46,294.416

Write a positive value for n that makes this statement true: 4 x a isless than 12

but greater than8. AW Vlexample between 2.1 and 2.9

Which equation has the same unknown ~ Which expression is equal to 10 ?
valueas 585 + 15 =[ | ? 15

@ 15 x 585=[ | @ 15-:10
@ s585:[]=15 @ 10-15
© s585x [ ] =15 © 10x1s
I D []+15 = 585 @ 15x10

|
i Which expression correcthy shows the Izzy is using a calculator to multipl

sum of the product of 6 and 10 and the 4627 and 30. She enters 4627 x 300 by
I difference of 40 and 15? mistake. What can Izzy do to correct

her mistake?

L @A) 6+(10%40)-15 @ «dd270 tothe product
| (6%10) - (40 +15) subtract 270 from the product
b © 6-(10x40)+15 (© Multiply the product by 10
. @ (6x10)+(40-15) @ Divide the product by 10
= I- OMPS. »gea,es."

CR_9_ 9 90— 90_0 9 _9_—9_ o -9 -—¢_¢ ¢
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Summer Review # 6

Show your work remember to show any regrouping

Find the sum

Find the difference

Find the product Find the quotient

3 4
84 +35
15 , 216 L1431
830+ 390=115

11
1255

B _ 74 _
8‘1- 35-
15 216 _
820_320-

35 _z16 _ 413
720 32.0 ‘l.ZO

8 +34=

1

S
S
1

Write the product. 5876 x 23

(135148 |

There are 8 cupcakes on a plate. This is

kitchen.

Write the total number of cupcakes in the kitchen.

Stephany’s family drove 50+ miles to Mount Rainer. Then they drove 2589 miles

from Mount Rainer to a new hotel.

Which expression can be used to determine the number of miles Stephany’s family

drove altogether?

R e

@ 75+

@ 50+25+ 0+

(O 50+25+ 8

4 , 80
@ 75+ %0 * 100

—_ 90— 9 —

A rectangular prism has a volume of
100 cubic units. The length is 5 units.
The width is 4 units. What is the height?

@ 4units
Q 5 units
© 15units
@ 20 units

of the total number of cupcakes in the

1

4

80
100

©MPS. Mears .

9__9_

—
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Summer Review # 7

) Show your work (stack the numbers) show any regrouping
|

Find the sum Find the difference Find the product Find the quotient

73305+905= |73305-905= |73305%x905= |73305+9.=

— —
= =

6634.1025

Round to the nearest tenths.

351015 351.0 832304 832.3 270697 270.7

—

Which equation has the same unknown Which fraction isequalto 52 +5 ?
valueas 12 x [ |=420 ?

@ 12 %420 =[]
@ 420:[ =12
© 420x[] =12
D []+12 = 420

©0®®
© 5 5 s

ul-d TN enfen

Mr. Johnson is buying popsicles for his class as a treat. He has 25 students. A box of
20 tropical popsicles costs $4.59. While a box of 18 Firecracker popsicles costs

$3.97. How much will he save buying 2 boxes of Firecracker popsicles instead of 2
boxes of tropical popsicles ? $1 24

Tropical Firecracker §918

OMPS. Meagsy
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—e:" Name Summer Review # 8

) Show your work remember to show any regrouping
! Find the sum Find the difference Find the product Find the quotient

55 +3% = 55 -3 =

— —
— P —

15,28 025 |pl5_z8 _o7
520*320=8 % |53~ 340 =24

Write the product. 4659 x 47
| 218973 |

| Four students plan to share the cost for ordering pizza. Each student says how much
of a whole pizza they want toeat.

I want 1
T want toeat % of toeat 3 of
toeat % of a pizza.
a pizza.

I want

Cynthia
Bill and Cynthia only want Combo pizza
I John and Rosie only want pepperoni pizza.
At - Combo and pepperoni can only be ordered as while pizzas.

| \What is the minimum number of whole pizzas they must order so that each student
| has as much if the Kind of pizza they say they want to eat?

= .: [ 3 pizzas = Zcombo and 1 pepperoni
p_9_ o _o_9-—9_o 9 0 9

] ©MPS. Mears .

—_— = = — W —
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Summer Review # 9

) Show your work (stack the numbers) show any regrouping
|

Find the sum Find the difference Find the product Find the quotient
21312+288= |21312-288= |21312x288= |21312-:288=

— —
= =

6,137.856

Round to the nearest hundredths.
351015 351.02 832304 832.30 270697 270.70

| Which expression is equal to 537085 ? Q{S zh%?g gﬁig?iglxs ﬁl‘g:lilans r?i{’;s.

| @ 5% 100+3x10+7 +8x(%)+5x(1%0) The width is 7 units. What is the height?
@5x100+3x10+7 + 8% (35) + 5 % (1ch0) @ 6units

L (© 5x1000+3x100+7 +8x (i) +5x (1) & 7 units

| (D) 5x10000+3x1000+7x100 +8x10+5 (O 60units
| @ 70 units

| Mr. Johnson is buying popsicles for his class as a treat. He has 25 students. A box of
20 Tropical popsicles cosfs $4.59. While a box of 18 Firecracker popsicles costs

| $397 What is the price per popsicle for the Tropical popsicles? $ 273

| Bound to the nearest hundredths place 229 [ 0.

20J4.5900
9

-40

)
0

9_ 3

-4 0
5
-4

OMPS. Meagsy
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- Name Summer Review #10 ~ ‘a5
) Show your work remember to show any regrouping
! Find the sum Find the difference Find the product Find the quotient

125+ 3%= 121-3%= 121 x32=

— —
— P —

3 8 _qp 1l 3 8 1 49 _ 11 539 1
+3°% = =2 _20 10~ = x == =44

15_o8_ o7
1175~ 37;= 843

| Write the product. 8047 x 23
[ 185081 ]

Four students plan to share the cost for ordering pizza. Each student says how much
of a whole pizza they want toeat.

I want
I want 1
I want toeat % of toeat 7 of

toeat 73} of
a pizza.

Bill Cynthia
Bill and Cynthia only want Combo pizza
John and Rosie only want pepperoni pizza.
Combo and pepperoni can only be ordered as while pizzas.

Bill and Cynthia are sharing 2 large Pizzas. How much will they have for left overs?
I

[ 3.3 9,6 _15  2¢4_15_9 _ 3 -
;[ 4+ 1z*1z 12 1z~ 17 =1z = ¢ ofapizza
=

"R_9_ o ¢ -_9_9_9 9__9_ 9

] ©MPS. Meaps .

—_—
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b-"" Name Summer Review #11 -

) Show your work (stack the numbers) show any regrouping
1

Find the sum Find the difference Find the product Find the quotient
|

50.4+12.716= |504-12.716= |50.716x124= |50.716+124=

— —
= =

628.8784

Round to the nearest tens.

358015 360. 832304 830. 276697  280.
|

Which expression is equal to 5370.85 ? Steven has a plastic tub for storing his
building blocks. The area of the base is

|

(B)5%100+3x10+7 +8x(5) +5x (i) 60 square inches. The height of the tub
[(@)5x100+3x10+7 +8x(ih)+Sxlag)  joctinohes, M fho volume, in cubic
@5 x1000+3x100+7x10+8x (&) +5x () '

.3 ]
|
(D)5%10000+3%1000+7 x100 +8x10+5 {2‘}0 in

| Sam multi}talies a number, n, by a two digit number.

Which sta
', @ When nisa one-digit number, the product will always have three digits.

ement is true?

| When nis a two-digit number, the product will have four or five digits.

l (© When nis athree-digit number, the product will always have four digits.

-@ When nisa four-digit number, the product will have five or six digits.
-, OMPS. Meagsy

—

CR_9_ 9 90— 90 0 9 _9_—9_ o -9 -—¢_¢ ¢
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" "Name Summer Review #12 -
| Show your work remember to show any regrouping

' Find the sum Find the difference Find the product Find the quotient
1 1_ 1_¢gl_ 1 1.
141+ 61 141- 61 141 x 61

—_—

— —
— P —

3.,,2 _on5 3 2 1 57 37 2109 g 21
+ = O _pld ol of O 4109 g 71
L415 +63; =209, 141,-67;= 87; 4 * 6" 24-875,

-87L
-878

Write the product. 4075 x 32
| 130,400 ]

Four students plan to share the cost of candy. Each student says how much candy
they want.

Sam and Julia only want rocky road clusters
Jim and Bella only want multi-flavored rock candy.
\g «  The candy is sold in 1 pound bags.

What is the minimum number of pounds of candy they must buy so that each
| student has as much if the kind of candy they say they want toeat?

- [ 4 poundS' 3 pounds rocky road and 1 pound multi-flavored rock candy
11,
—0—_ 9_ —0-—9— 9 — $__9_ 9o

] OMPRS. MQQ,FS:
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-~ Name Summer Review #13 -

) Show your work (stack the numbers) show any regrouping
I Find the sum Find the difference Find the product Find the quotient

203+1165= 20.3-1165= 20.3%x11.65= 203+116-=

—

— —
— = =

31.95 8.65 236.495 1.75

Round to the nearest ones.

| 358015_ 358. 832504 _ 833 279697 280. '
Use this table to solve the problem :
{ Joe has a plastic tub for storing his
Ltem Cost per package gaming cards. The area of the base
|| Bowls $2.32 is 25 square inches. The height of
Spoons $254 the tubis S inches. Write the
: volume, in cubic inches, of the l
Sam buys 2 packages of bowls and 3 plastic tub. 3
| Facka es of spoons. He gives the store clerk { 125in }
hree 5 dollar bills. What is the total amount

| of money that Sam should receive back from

| the clerk? { $Z74‘ ] V=BxH
 bowls  Spoons  Total V=25%x5
Change

| $232 $254 762 V=125
x 2 x 3 +§‘}6‘f $15.00

$464 $762 j 12.26
' $12.26 §$2.74

How is an acute triangle different from an obtuse triangle?

IL:\n acute triangle has all angles less than 90

= 11, An obtuse has 1 angle greater than 90. OMPS. Meapty
—R =P — — @ — 9 — @ — —— v — 99—y v —
IRIAENANNANN IARAREANEANEARE




" "Name Summer Review #14 —
» Show your work remember to show any regrouping I

' Find the sum Find the difference Find the product Find the quotient
1 2 _ 1_=z2_ 1 2 _ 222

_ — [ |
I

—_—

— —
— P —

3 08 Al 2 o8 4 11 451 o7 |40 . 11
+ - I N} —= —— == | = == _
1017+ 33;=433; A0, -3 ¢ *3° 127575 |1 T -

15 8 7 40, 3 _120.9n10
3915 -39, = 3613 1 X117 -10%

Write the product. 8507 x 34
| 289238 ]

Four students plan to share the cost of candy. Each student says how much candy
they want.

T want I want

3
4 I want 1%113 §.of candy. 4 Ib.of candy.
¢ Ib.of candy.

Y

Sam and Julia only want rocky road clusters which costs $1.99 per pound.
Jim and Bella only want multi-flavored rock candy which costs $3.99 per pound.
The candy is sold in 1 pound bags.

| How much more do Sam and Julia pay for their rocky road clusters than Jim and

® Bellapay for their multi-flavored rock candy?

Rocky Road  Rock Candy Difference [ $1 08 ] I
$1.99 $3.99
X 3 x 1

$3.99

COMpS. Me3ns /s

= = = — W —
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Summer Review # 15
) Show your work (stack the numbers) show any regrouping
Find the sum Find the difference Find the product Find the quotient

6016+15.04= |6016-1504= |6016x1504= |[60.16 +15.04 =

904.8064

Round to the nearest tens.

358015  360. 832504  830. 279697 280.

Use this table to solve the problem

Tt Cost k Ginger has a plastic tub for storing
T en; P = P;Z izc ke her nail ohsE The length is 7
thed Taper ' inches. The width is 4 1nches The

#2 pencils $4.96 height of the tub is 3 inches. Write
the volume, in cubic inches, of the

plastic tub. ]
[ 84 in® }

—

Vanessa bu{ys 1 pack Ee of paper and 2

packages of pencils. She gives the store
clerk twenty dollars. What is the total
amount of money that Vanessa should

receive back from the clerk? { $3 60 ] V=1xwxh
i Paper #2pencils Total V=7%x%4x%x3
Change V-84
: $6 8 $4.9 648 i

1
$6 48 $992 . -16.40
. $ $16.40 $360

| Howisa right triangle different from an obtuse triangle?
I

A right triangle has one angle that is exactly 90'.

1 An obtuse has 1 angle greater than 90..

OMPS. Meapdy
et 9—9——9—— :
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- Name Summer Review #16 &
1

) Show your work remember to show any regrouping
. Find the sum Find the difference Find the product Find the quotient

| 331+ 71= 355 75" 3B5% 75" 33 +73=

—
— P —

11
3,28 _anll 3 _ 58 _ 265 2% _291S 5401l
3324+ 724=409; [B35-7,= AU 12- 24255

27 8 _ 19
32.%- 72—4f = 25?f

| Write the product. 7603 x 27
' | 205281 ]

—

Sarah is painting her room and packing a box with books.

« One shelf has books that are 6 inches by 4 inches by 1 inch.
- The dimension of the box is 12 inches by 8 inches by 8 inches.
- All the books and the container are rectangular prisms.

® Part A 4

How many books can fit in the
box if the books are packed so
that there is no unused space
in the container?

\_ [ _32. books

Part B (Box holds -

Each book weighs 6 ounces. Weight of 26 bookss
The maximum weight the box ) 26

will hold is 10 pounds. 16 6

What is the greatest number | 3¢ 10 %

of books that can fit in the box 156 ounces
without going over the boxes 160
weight limit? ounces

| \ [ 2_6_ books

] |:.,©i1ras. Mears
—_9_ —o-—0 — 0 ¢ ¢ T
[T T AT I 1T1]

\
=

e




Summer Review # 17
) Show your work (stack the numbers) show any regrouping
Find the sum Find the difference Find the product Find the quotient

102.48+12.2= |10248-12.2= |10248x122= |102.48 +12.2 =

1,250.256

Round to the nearest tenths.

853505 853.5 328054 3281 972749 9727
‘ Use this table to solve the problem

—

Frankie has string for tying up
plants that are all equal in length.
Applesauce $1.98 She lines them up end toend. The
pudding $2.48 line of string is 6 feet long, Frankie

| says there are 8 hair ribbons.
Jill buys 3 pack (?e.s of applesauce and 2 What is the length of one string in

| packages of pudding. She gives the store feat?
* [.75 or % foot}

Item Cost per package

clerk a twenty dollar bill. What is the total
! amount of money that Jill should receive

?
| back from the clerks? $910 ]

| Applesauce pudding  Totql What is the length of one string in

Change inches?
1 $198  $2.48 594
x 3 x 2 ,¢49¢ $20.00

$594 $4.96 -10.90
| $1O 20 $910

A square is a special quadrilateral. List all the other names it can be called.

{ A square can be called arectangle, parallelogram, and a rhombus. ||

[
L Li=. OMPS. Me&e

CR_ 9.9 90— 90 0 9 99 ¢ —@¢ —
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- Name Summer Review #18 ~ ‘a5
) Show your work remember to show any regrouping
. Find the sum Find the difference Find the product Find the quotient

: = 2_p3_ = -
27%+ 6%= 27%- 65 = 272 %63+ 27 +65=

_ — [ |
I

— —
— P —

8, 15_2425 |0mB 15 _ 137 . 27.3699.
2790+ 630=3%3 (275 630= 5 * 4 2018

_ 3
=357 |262-655=203

| Write the product. 3076 x 72
| 221472 ]

—

Alex is cleaning his room and packing a box with books.

- One shelf has books that are 8 inches by 6 inches bg 1-1/Z inches.
- The dimension of the box is 16 inches by 12 inches by 12 inches.
- All the books and the container are rectangular prisms.

® Part A 4

How many books can fit in the
box if the books are packed so
that there is no unused space
in the container?

\
=

Part B

Each book weighs 1-1/2
founds. The maximum weight
he box will hold is 45 pounds.
What is the greatest number
of books that can fit in the box
without going over the boxes
weight limit' |

| \ [&_boofts..

m |:.,©i1_ras. Mears
—_9_ —9-—9— 9 —-—¢ —0_@ "¢
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Summer Review #19 -

) Show your work (stack the numbers) show any regrouping
I Find the sum Find the difference Find the product Find the quotient

134.4+192 = 1344-192= 1344%192= 1344 +192 =

—

— —
— = =

2580.48

Round to the nearest hundredths.

853505 85351 328054 328.05 972749 972.75
' Use this table to solve the problem

Samantha has hair ribbons that are
all equal in length. She lines them
mutfins $4.99 up end toend. The line of hair

String cheese $2.98 ribbons is 9 feet long, Samantha

L Josie buys 1 package of muffins and 2 ;s[\c[tgztt:;e{le:ealgig&ag I(;III:: ﬁglsr

| packages of string cheese. She gives the ibbon in feet?
ribbon in fee [1.5 or 1 % feet

Item Cost per package

store clerk a twenty dollar bill. What is the
P total amount of money that Josie should 9 _ 1§ _ 1l
| receive back from the clerk? [ $9 10 ] 6 " *+6 —2

| Muffing String Cheese Tt 4] What is the length of one hair

Change ribbon in inches?
1 $499  $298 4449
x 1 x 2 505 $20.00

$499 $596 -10.95
! $10.95 3500

| Explain the difference between a square and a rhombus.
b( A square has four 90 angles and four equal sides. ] |

—#)_A rhombus must have four equal sides but not four 90 angles.
_]i=. OMpS. Meagsy

CR_9_ 9 90— 90 0 9 _9_—9_ o -9 -—¢_¢ ¢
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- Name Summer Review # 20 ~ -
) Show your work remember to show any regrouping
. Find the sum Find the difference Find the product Find the quotient

: = 2_pl_ = el
182+ 6= 182- 6= 18Zx 6%+ 18 +65=

—
— P —

5
8 .25 _9al3 8 5 _190.3 |92 _ 25_460_ 18
1820"'620-2420 1820_620—12 20 1~5\ X T' 4 =115 :

X

1
18
1

| Write the product. 4106 x 53
' | 217618 ]

|
Megan is cleaning her closet and packing a large tub with shoe boxes.

- The dimensions of the shoe boxes are 12 inches by 8 inches by 4 inches.
- The dimension of the box is 24 inches by 24 inches by 16 inches.
- All the shoe boxes and the tub are rectangular prisms.

® Part A 4

How many shoe boxes can fit in
the tub if the shoe boxes are

| packed so that there isno
unused space in the tub?

F shoe boxes

\
=

Part B

Each shoe box weighs 2
founds. The maximum weight
hat Megan can lift is 40
ounds.
hat is the greatest number
of shoe boxes that can fit in the
box without going over

— .:Megcm‘s weight limit? \ [ 70 shoe boxes
|...©il.r°s._r‘ea,r°3 L

¢ —

—

—_— = = — W —
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Summer Review #21 -

) Show your work (stack the numbers) show any regrouping
: Find the sum Find the difference Find the product Find the quotient

380.38+266= |380.38-266= |380.38x266= |380.38 -26.6 =

—

— —
= =

10,118.108

Kevin and John rode their bikes home from the video game store. The distance Kevin
rode, in miles, is shown by point K on the number line.

e 3 . .
John rode his bike 4 of a mile more than Kevin rode. { ) % miles ]

Write the distance, in miles, Kevin rode.

Determine which category each polygon belongs to. Mark all boxes that ap}l)ly. Shapes
may belong to more than one category. If the polygon is note a square, parallelogram, or |
quadrilateral select None of These.

Square Parallelogram Quadrilateral None of These

Rhombus

Octagon .
Trapemid‘

OMPSaMRAPS oo

—_— = = —




- Name Summer Review # 22 ~ ‘&
1

) Show your work remember to show any regrouping

Find the sum Find the difference Find the product Find the quotient

221+ 7 5= 22%- 75 = 221 x71=

4 .93 _99. 7 4 3 _ 1 67 . 29_1943 11
223,+713=233; 0235;-77;=155; | 37* % 12 - 16175

Katy and Josie rode their bikes home from the fabric store. The distance Katie rode, in
miles, is shown by point K on the number line.

—

Josie rode her bike % of a mile less than Katy rode.

Write the distance, in miles, Katy rode.

1 .
[17 mlles]

Determine which category each triangle belongs to. Mark all boxes that apply. Shapes
may belong to more than one category.

Acute Obtuse Right Isosceles Scalene Equilateral
Triangle Triangle Triangle Triangle Triangle riangle

] ] X X ] []

VN

A x| [ Il [
A ‘

o

X [

= I:'_ OMPS. MEars

_.'-._ _’_ —

. ®e
— —_— — — —
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Summer Review # 23 -

) Show your work (stack the numbers) show any regrouping
: Find the sum Find the difference Find the product Find the quotient

1005+25.25= |1005-2525= |1005x2525= |1005 +.25 =

—

— —
= =

2,537625

Kyle and Jim rode their bikes home from the ballfield. The distance Kyle rode, in miles,
is shown by point K on the number line.

. .1 1 4.
Jimrode hisbike 17 times farther than Kyle rode. { ) % miles ]

Write the distance, in miles, Kyle rode.

Determine which category each polygon belongs to. Mark all boxes that ap}l)ly. Shapes
may belong to more than one category. If the polygon is note a square, parallelogram, or |
quadrilateral select None of These.

Square Parallelogram Quadrilateral None of These

rectangle

X X| []

rhombus ‘
pentagon
O X

OMPSaMRAPS oo

—_— = = —




- Name Summer Review # 24 ~ ‘&
1

) Show your work remember to show any regrouping

Find the sum Find the difference Find the product Find the quotient

181+ 45= 181- 4L = 181x42=

1

5 .49 _99l4 5 _a9 _ 56 _ 23_253_ga1
1815+ 415=2275 [1835-435= 3 "?i 3 =8%3

20 9 _ 11
1735 - 45=13;

Kassy and Jenny rode their bikes home from the craft fair. The distance Kassy rode, in
miles, is shown by point K on the number line.

—

Jenny rode her bike % as far as Kassy rode.

1 .
[17 mlles]

Write the distance, in miles, Kassy rode.

Determine which category each triangle belongs to. Mark all boxes that apply. Shapes
may belong to more than one category.

Acute Obtuse Right Isosceles Scalene Equilateral
Triangle Triangle Triangle Triangle Triangle riangle

A X O O X O [l

[ X [

i
k | 0
A

O X

= I:'_ OMPS. MEars

_.'-._ _’_ —

. ®e
— —_— — — —
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Summer Review # 25 -

) Show your work (stack the numbers) show any regrouping
: Find the sum Find the difference Find the product Find the quotient

1005+12.25= |1005-12.25= |1005%x12.25= |1005 +.12 =

—

— —
= =

1231125

Write the number of quarts equal to 36 cups. _ 9 quarts ]

Write the number of ounces equal to S pounds. __80 ounces ]
Write the number of feet equal to 10 yards. 30 feet ]

Write the number of meters equal to 3 kilometers. [ 3,000 meters ]

Write the number of grams equal to 5,000 milligrams.[ _5 grams ]

Write the number of milliliters equal to Z liters. [ 2,000 milliliters ]

Y
/'y

Plot and label the points below
A(4,3) B(16)
C(6,6) D(93)

Connect AtoB,BtoC,CtoD,andDto A

What shape did you draw?

P NWD IO

[ Parallelogram ]

1% chtes. meaes 0 1234567891011
SR 99 0 -—0-—90_90 9 90 o -—¢-9_¢ ‘¢
INNENEENNANEERE
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" "Name Summer Review # 26 -
| Show your work remember to show any regrouping

' Find the sum Find the difference Find the product Find the quotient
! 3,82 _ 3_gl_ 3.5l _

—
— P —

185 . 08 _9923 15 8 _19 7 |71  27_1917_ on17
1730+ 520=2239 [1735- 530=12; * ‘57720 = P90

4 5
=23~

Write the number of cups equal to12 quarts. _48 cups ]

Write the number of pounds equal to 48 ounces. _16 pounds ]

Write the number of yards equal to 24 feet. 8 yards ]

Write the number of kilometers equal to 2000 meters. Z__ kilometers

Write the number of milligrams equal to 15 grams. 15,000 milligrams

Write the number of liters equal to 1500 milliliters. 15 liters

Plot and label the points below C
A(6,0) B(3,4) /A\
C(6,8) D(94)

Connect AtoB,BtoC,CtoD,andDto A

| What shape did you draw?
l

[ Rhombus or Parallelogram ]
I.©Mpg Meaps 0 123‘1’567891011

A

"p_9_ 9 o990 9 __9__9_ _




